fiEtRE by —L»

20
Lo EEEK 2
(k—1)5 K® —5k* +10k® ~10k? +5k — 1, FTE5k® — (k ~1)° = 5k* ~10k® +10k® ~ 5k +1
W%HHS&Z fEn°-1= SZk“ 1OZk3+lozk2—52k+Zl

k=1

éﬁ(Zk“ (n +1OZk3 1OZk2+SZk 21 1] ”(”+1)(2”+;())(3” #3n-Y)

20 . . .
ﬁizk“ _ 20 21341 1259 722666

2. FLH(X.Y)EUE ¢ (29,6)(39,41)(69,16)(109,36)(149,56) + s X £ Y HIHIHI L

3% = X)(y: - ) 2
B SRS T T S

3. Fa HEHEITER X - 3x+k =0 —EEIR - KlalymA TH7
WitR fa,a, a+a=3aa=k=laf
3

HD<0,(-3)* -4k <0, k>— Eﬂla|2> |a|>—

4. FEX—(k+3)x+(2k-1)= Oﬂﬁfﬁﬁi’ﬁ%ﬁﬁﬁl SKATAEIRE K E 2/
D (k+3)2—4(2k -1) =k® —2k +13=(k —1)° +12> 0
:(k+3)i‘l(2k_l)z+12eZ,(k—1)2+12:h2,EEPheN
(k=1-h)(k —1+h) =-12,fi#(a+b)(a—b) = 127 BZHfi#

(a,b) =(-2,4)(2,-4),#k =-1,3
FrAkegEE 2 Ff1=3+(-1)=2
5. EX,V,zeR > Hx+y+z=2> x*—yz=4 > R xy+3yz+ X AfE

Xy +3yz +2x = X(y +2) + 3(X* —=4) = X(2 - X) + 3(x* —4) = 2x* + 2x —12
1, 25

—2(X+§) 5
Sy, 2Ry ITREAL — (2 - X)t+ (X" ~4) = 0Z [

D=(2-x)?—4(x*-4)=-3x*-4x+20>0,3x* +4x-20<0
-10 -10
?<X<2E‘jﬂ§§’%$fx— 3

Rk -2



fiEtRE by —L»

6. AABC » /C=90" » AB¥E [-=%432:D,E> HAD=DE=EB > &}4ICD=3 > CE=4 >

5k AC
— _ A
4AC=x,AD=y Ny
2 2 2 2
cosAz XY -9 _x'+4y —16’?%)(2_2)/2:2 D
2xy 2x(2y) y
16+y*—-9  16+y*—(9y*-x?) | 3 E
cos ZCED = =— » fBx2-7y?*=-23 4
fHry? =5,x* =12,x =23 =
7. AABC ¥ PA+PB+PC=0 - HPA=3> PB=4- PC=5 "3k AABC A
i

RBHEE P 120 - /E P PM = MP' > 55—/ NI = AT FifsAE

% xﬁzgng(sm)zzm=ﬁ

AABC =3ABPP'=3.6-3-2-1=18 B 34 c

8. A—FMEILASFT HARNT 4 A > EMAHERENFTEA > (£ X]/
ANHEAREMNFIHE - BEARTRECEANFTEE - RITUA K P
H—RIEA %A 74

A TF7E P =120

AT A= Z N T =P —C/P +CiP} —CiP? +C/P} =120 96+ 36 -8 +1=53

B — 775505120 -53 = 6360
9. AKAE 3IRMHEAVIERR I - S8 b 5 EfEROVE T (FERE T ER LA BT RI%) » i
HE4%TEHNE
7r4HETEm(5,0,0),(4,1,0),(3,2,0),(3,1,1),(2,2,1)
(5,0,0) C5! = 360
(4,1,0) C34131=720
(3,2,0)C2312131 =720
(3,1,1) c;’cfs% =360
(2,2,1) cgcgzm% =360

EELEDN = 2520



firere

10.

11.

12.

13.

by —i[»
TEE] FAEHT 12 85 > RIRIFHZEFTSAVE SR » B 2R LB PN I 55 1 R 2 (a5

A n i frka, =Cp +C; +C; GEAEIHE S H R T 402 o B B E (57, )
Ffr>k a,, =1+ 66+ 495 = 562

25 (a, ) iE a, =2 » 8, = 2:‘ *21 Wn>2 sk
S LA I
X+2
Za"*1+1+1
a,+1_ a,, +2 3a,,+3 a,+l_pa L+l e+l o
Al a, -1 23n1+21 1 3an1+3_3(an71 )=3 aH—l_'"_3 (al—l) 3
a, +
i a, 3 +1(Jﬁt7?/£79<%§515@% T IREEE LR EhE ) )
50< x<§ : zézﬁ+ Jm%m%waa% + SR o, (tan X)
HE AR
{\/\/mlnx) +(\/J J (\/sm x)® + (Ycos? x)° )>(1+24) =17°
1 2 Y 5 1 . Ysin?x  Ycos?x
[\/sinx +\/cosx] =17 " Jsinx i Jeosx >174 bLb \/ \/
Jsinx  \Jcosx
5 5 5

sin? x = EcosE X, /5tan? x =27 tanx = 2 s
log, (tanX) = ——=

BRMUTH AB,C,D,E LS [ - 54— s B R AT L — HAth S0 153 B HY
PRI 0.25 > BHE-RERERRE A B 356 n REXHEN A BZERLEP, -

EU‘PH —% <10° ZH/hnfg




fiEtRE by —L»

1

Pn = Z(l_ Pn—l)

1 1 1 1, 1 1o, 1 1,4, 1
P-==—Z(P,-2)=(-2)(P_,-)=..=(-2)"(P-2)=(-2)"}(-=
= 4(n71 5)(4)(n72 5) (4)(15)(4)(5)
P —1‘ —dytlcgoe

5 4" 5
(n-1)(-2log2) —log5 < -9
n-1>13.8
fFni/ I ME Fy15

14. i n FEER I S EfE T  FERIC AR K 0.2 HEMZERBHIIIEE /)
2 0.1 3K n i/ ME

1

4 ZEREIIER p, = C) (g)n

ok 44327 _ 5 2 n 2 1 n
3 ZEREHIER py = C; (E) -G (E)

ekl 257 5 3 n 3 2 n 3 l n
2 ZEFERTIER p, = C3 (g) _Cz (g) +C1 (g)

" 4. EN: 2 1o

1 Z2FEMIR p, = Cf((g) —Cg(g) +C;(g) —Cf(g) j

4
ZEREHISE =D kp, = 5(%)" <0.1 - H#f#ilog5+n(log4 —log5) < -1
k=1

n>17.5 > n &/ 18
15. IE#E# a,b,c jiijE abc=420 > EE LS S={ab,c} - %5 S IFTH A RER %41
420=2%.3.5.7 » a=243%5%7% h=Nn3:5%7Y% ¢ =24325%7%4

X +y,+2,=2
X, +Y,+2,=1
2PV R T el s HIHIHIHG =162
Xg+ Yy +23=1

X, +y,+z,=1
g ab.c PEFI > FR1(420,1,1) (2,2,105) - Hgk ab,c EAHE
R
16. T%-&Eﬁﬁ%&% N R Fy 1,2,3,4,5,6 B - RIFECEREEURY X, X, X, X, > BORLE
(X, = %) (%5 = X )(Xg — X ) e (X = X )(X, — %) =0 2R B P > 3K P, +6P,, (B

MER—E n Eyg e HIRERE - 777586-5 =a, +a,,

+2=28

5 P 5"
75 M_p oyl P+6P . =——
?&Tﬁ‘ (6) n 6 ﬁ n n+l 6n71



firere

17.

18.

19.

by *;[L\

SRR AREY o ACE— S A A IR T (3 Ay 1,2,3,4,5,6 ) —X
BN Ry 7 > W15 100 LBl —MEEH

GRS Ry 12 > 1]15 240 JLEARIENS

B ELA RSO AIES O JTE O A -

B 10 #ES > Bris E B - KT R E

1 R TEA TS G E = %(100+ E) +%(240+ 2E)

f$E =30 - 10 fiVHIE {5 = 10E = 300

HREIEREE n (YRR IEREOE] - R BEREA R AEE K f(n) - JIl f(2012) Ky 2% 8
n=a+a,+..+a,a <a, ' =a =1 P =aaa,.a =a,a,.3,

HEHTE nHEn=~1+a,)+a,+..+a > P, =(1+a,)a3,..a >P,

#ra, >2

wna on-T0 L
”T””T‘l—n:%(n?—4n—1):%(nZ—4n—5)+1=%(n—5)(n+1)+1,~;a§n25 s EESS A
ESCPN

R Sn="40

nn 1,, 1 o

§§—n=z(n —4n)=zn(n—4),EDEn24 » FESr B AT SRR A

WK 4 B8N o] DAFHE 5> B SRR R A

N A4=2+2=2*2 > B EIIBERIT 2 82 3

2R 3MELLE  6=2+2+2=3+32" <3 » iEEHRMEREA 2 % LA N{E
f(2012) =3°.2% » log f (2012) =319.% - #{ f (2012) ) 320 {1

#£{0,1,2,3,4,5,6} 2 H A {E# T (] EER) FTHEF T B AL AL IERE B0 » 12 HUfEE0a 264
4 (% K WA E5{00,04,12,16, 20,24, 32, 36,40, 44,52, 56, 60, 64}

3k :00,12,24,36,60
3k +1:04,16,40,52,64
3k +2:20,32,44,56

Heporpli =4

(2+2x+2x*)(3+2x + 2x*)(3+ 2x + 2X?)
HI=ArERDL 3 HyERE - ﬁ%ﬁiﬁmﬁi" = == p—_—
0~ 3+ 6 WZAREFIFy 98
1~ 4 R A5EFTFy 98
2~ 5 WA Ry 98
475 98(5+5+4) =1372

[EE% [C1]: Hfir A5 0




fiEtRE by —L»

2k +1

” ,vk=123,...,2011 > >k

20. E{&E7FE f(x) 0 % deg f(x)=2010 > H f(k) =

> {CR (D) (k+ D) 2

k=0

f(k) = 2+%w =1,2,3,...,2011

Let g(x) = xf (x),degg(x) =2011, Hg(x) =2x+1 Vk =1,2,3,...,2011
Let g(x) =a(x-1)(x—-2)...(x—2011) +2x +1

_2011la+1=0,a= —,g(2012) = 4026
2011!

& CZOlZ ]_kf k 1 E C2012 1kf l C2012 l 2011 g(2012)
- +1)= - X+1)t+ - -
{ (-1 f (k+1)} Z{ (D" F(x+1)}+C (1) o2
2010 2010 2012| 1
=23 C22 (1) + ) (DK —g(2012
2O D o otk 912
— 2(C2012 _C2012)+ 1 zoil(_l)lﬁrchOlS —4026
2011 2012 2013 = k
— 40024+ 2 (2013) — 4026
2013
-3
x—1 -4 z-2 X+5 -1 z-2 N
21, e miEEgL L=, XY VPR 2T skl
2 3 2 3 4 -1
d(L,, L)
(12X
(2)FmE*E

O 2rs



